
Write the missing number which is halfway between these two lines:

40-----------------------------------        ----------------------------------50

Write the missing sign between these numbers.  You can use each sign
more than once.

                            +              -              =

  64            12              76

   112          80               32

Freddie was 3rd in his race at sports day.  There were 30 in the race.
How many pupils came after him in the race?
                                                                       ---------------------

What number am I thinking of?

It is more than 10
It is an odd number

It is less than 30
--answer--------------------------

           

Y4 Numeracy QCA Style

Write these numbers in order, smallest first:
44   109 66 55 12

---------         ----------        -------------         ----------       -----------

Write the answer:

52 x 10 = ..........        21 x 10 =...............

86 x 10 = .......  .... 72 x 10 = ................

A lolly costs 75 p.  Joe has 10 p coins and 5p coins.  How many
of each coin does he need to buy a lolly?

.....................ten pences         ..................five pences

Use any of these numbers:

15 60 5 31 5
Write one number on each line to make a correct sum:

----------------- = -------------------- + ----------------------

Write the answers:

242 + 321 = -------------

84 - 41 = ----------------


